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BR| WIE# |KIEHRT |51 L& |51 L% ° ;i?f N
SV |MERFRER (M) (M) (M) ® T gﬂ:g_ﬁ SAhREFEAR 1%
(H) (M)

% FE | 1,105 | 1,055 50 4.74 (1,078 50 R6.12.1

F ZE | 1,105 | 1,055 50 4.74 (1,026 50 R6.12. 25
B R 829 1,163 50 H22. 12. 31
#wmHEN 890 1,162 50 H27. 3.1

Z 901 1,077 50 H30. 12. 16
KX BR | 1,127 1,068 | 59 | 552 |1,114| 50 R6.12. 1

JeimE | 1,049 | 997 | 52 | 5.22 [1,010] 50 R6.12. 1

= | 1,012 959 53 5.53 973 50 R6.12.15
B B 880 955 | 55 R4.12.30
% | 1,052 | 1,002 50 4.99 (1,005 52 R6.12. 31
# A& |1,056 1,008 | 48 | 4.76 |1,004| 50 R6.12. 31
B B 1,051,006 | 50 | 4.97 | 985 | 50 R6.12.28
T 1,005 985 | 54 RS. 12. 27
= W | 1,002 | 951 51 | 5.36 | 998 | 50 R6.12. 26
£ il | 1,008 963 45 4.67 984 51 R6.12. 31
B O 857 984 | 53 R1.12.24
o 3 (1,047 997 50 5.02 988 50 R6.12. 27
£ % | 1,032 983 49 4.98 998 50 R7.1.1

g B 965 1,001 | 51 R5.12. 21
% M@ | 1,042 997 45 4.51 (1,034 50 R6.12. 21
= FE | 1,031 987 44 4.46 (1,023 50 R6.12. 21
% ® | 1,050 | 1,003 47 4.69 (1,017 50 R6.12. 31
B O# [1,074|1,025| 49 | 4.78 |1,058| 50 R7.1.19

£ & | 1,053 1,002 51 5.09 |1,052| 51 R6.12.1

= B 891 986 | 50 R3.12.29
& 8 987 929 58 6.24 962 58 R6.12. 27
[ | 1,025 974 51 5.24 982 50 R6.12.25
I~ B | 1,045 995 50 5.03 (1,020 50 R6.12. 31
W A | 1,032 986 46 4.67 979 51 R6.12.15
% & 1,038 983 | 55 | 5.60 | 980 | 50 R6.12. 21
& JIl | 1,030 982 48 4.89 970 52 R6.12.15
Z % [ 1,038 987 51 5.17 956 59 R6.12.25
%= [@ | 1,071 1,019 52 5.10 992 51 R6.12.10
5 & 968 927 41 4.42 953 55 R6. 12. 21
= F | 975 | 917 | 58 | 6.32 | 952 | 59 R7.1.22

M HA 958 930 28 3.01 951 54 R6.12. 25
(TT 7 996 945 51 5.40 955 55 R6.12. 25
B m 963 906 57 6.29 957 57 R6.12.19
B M 793 952 | 55 R1.12.29
® =B 996 943 53 5.62 956 56 R6.12.19
£ & 864 953 | 55 R3.12.29
B A | 996 | 940 | 56 | 5.96 | 952 | 54 R6.12.15
K 4| 996 | 941 55 | 5.84 | 954 | 55 R6. 12. 25
= 831 952 | 55 R3.12.24
BRE 842 953 | 56 R3.12.17




